Tk 3 04 (25 FAAER)

= BRE K4
1. (Al |1 2 2 2 3 3 4 4 28X 4=8
141 (B) 1 1 2 1 3 3 2/5X3=6
. m\r |1 # ® 2 6 i 2 >
36/ i3 They can open national parks.
i 4 1 money 2 change 3 cars
i 5 7 T A F v F = F 1, 3, 413345 2, 5. 61325
fiil 6 1 A 2 = 3 7 4 v SHX6=18 2/8X9=18
M. wm |1 = |2 v 3| = |4 v 5 4 |3#ix5=15
25/ i 2 1 autumn 2 first 3 bones
4 opposite 5 leaves 2/HX5=10
I \/ . 1 our teaches 2 any deepest
104 3 rain It 4 when made
5 living foreign 2HX5=10
3EAX5=15
V . 1 | (The girl) drawing a picture over there is called Ann )
158 2 | (This) question is too difficult for me to answer ()
3 | (New Zealand) is one of the countries I have wanted to visit )
4 | Do you know what that man is looking for )
5| (My sister) asked me to help her with her homework )






